&\\Amphenol
{[" ANTENNAS

APMA40-E9/E9T Installation instruction

Instruction Number:
Applications:

30047813

Rev.:03

The APM40-E9 kits are to be used for top and Bottom mounting interface as figure1 & 2.
The APM40-E9T kits are to be used for top mounting interface only as figure1 & 3.

E9 kits Packaging List
Item Description Qty
1 Mount interface top 1
2 Screw M8x20 8
3 Installation instruction 1
4 Mount interface bottom 1

E9T Kits Packaging List
ltem Description Qty
1 Mount interface top 1
2 Screw M8x20 4
3 Installation instruction 1

Tools required for installation

e 13mm AF Spanner or Socket (3/8” drive recommended)

e Torque wrench

Tightening Torque Values

Unless stated otherwise, the following general tightening torque values shall be used for
metric hexagon bolts and screws, coarse pitch threads.

Diameter Pitch(mm)

Bolt Tension(KN) Torque (Nm)

M8 1.25

9.5 16

Figure 1 : Top mounting interface bracket

E9/E9T:

1. Attach interface bracket to antenna with M8
hardware where required.
2. The arc is downward !!!

Figure 2 : Bottom mounting interface bracket

E9:

Attach interface
bracket to antenna
with M8 hardware
where required.

Figure 3 : Bottom mounting interface bracket

E9T:

For E9T, the bottom
interface have already
assembled.

Instruction No:30047813

APM40-E9/E9T Installation instruction




APM40-E9/EOT 235 i i

&\\Amphenol
(I" ANTENNAS

A5 30047813

A5 R

WRAc.: 03

APMA40-E9 A3 BT RSB SCI8 ) By Al R, dnfE 1. E2PR
APMA40-EOTAY I ] RS S8 B, a1, B3R

E9 M2z dE 3 JRuH gl

i H filiid e

il

EOTA! 23S RN«

E3R

M8x20 R 2H A

UERE

AWIN|I—
(00—

It

i H fhid M
1 E3 1
2 | M8x20 iZ#AH 1 4
3 | U 1

ZET AR
o KHM3mmiFilE E /AT

HFAEESR

BRAE RV, NAEH R AR N AR R BT AR

BHiE BZ47 (mm) FTEJI(KN) H%E(Nm)
M8 1.25 9.5 16

B 1 b2 R R A

E9/E9T:

1. I M8 (R L K 22 SR E 1 B
(VA
2. ZARIHER R T e T

B 2. e R B
E9:

F M8 [fi8 42
e ES S 5T
20T 2 TR
hE

Bl 3 TS RO R B

el

EOT:

f T E9T B¢
o, EEEO s
HIBEUT

Instruction No:30047813

APM40-E9/E9T Installation instruction




